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Why does clay stick together, but crackers don’t?

_________________________________________________________

What is Needed

· Two globs of clay

· A nickel

· A soda cracker

________________________________________________________________________

What to Do

Start with two globs of clay.  Roll the two globs into one.  What is it about the clay that allows you to do this?  Next, break it apart.  Now, try to break apart the nickel.  Do the same with the soda cracker.  In what ways are they alike or different?

________________________________________________________________________

What is Happening?

You can roll two lumps of clay into one because the molecules cohere, or stick together.  This property of molecules of the same substance  to cling together is known as cohesion.  The cohesive power of soft wax, putty, and moist clay is small. 

When you try to break the nickel, you have no luck.  It has enough cohesive strength to resist you.  The soda cracker crumbles due to lack of cohesive strength.

